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SD

Eo



No

1-1

12

12

12

12

12

12

12

12

12

9,08,07

15,02,27

15,02,27

9,08,07

9,08,07

9,08,07

9,12,18

17,0311

21,08,30

12,09,19

15,02,27

21,08,30

expj

2001

P58 253

1.0

Iso

Iso

15

0.7 Iso 0.6

RC
P131

N/mm?

178 20.3
16.9
174

0.6

17.0

oB 13.5N/mm2

P58,59

180  N/mm?
18.3

18
175
17.0




No

1-13

12

12

12

WRC

15,02,27

12,0323

21,08,30

19,05,21

17,0513

22,06,04

SR24,SS39 . 294 N/mm?

SD30 : + 49
SD35 : + 49
28
29 33
34 44
45
10
20
15
2.0m
2001
P222 P226
*1
F 10 T 20N/ 2
F 10 T 10N/
*1
1997
WRC
JIS A 1152

N/mm?
N/mm?

135 N/mm?
15.0

18.0
21.0

RC

0.4




No

2-1

12

12

12

12

12

12

12

12

12

12

15,02,27

15,02,27

15,02,27

15,02,27

9,08,07

9,08,07

15,02,27

9,12,18

15,02,27

9,08,07

19,05,21

15<
cos’©

P132

12 1/30

P225

T 1IN/

Eo

30
P231

1.0

P135

P131

cos’©

(n+1)/( +)




No

3-1

12

12

Q-F

9,08,07

9,08,07

10,12,17

22,06,04

15,02,27

9,08,07

19,0521

30
1/3

Fes




No
4-1 12 17,05,13 P86
4-2 1.2|Eo 21,08,30 |(n+1)/(n+ 1/Ai
4-3 2 0.15 Eo 15,02,27 3215 P9 10
a)
3212 Eo
b)
5 Eo
4-4 12 15,02,27
4-5 12 15,02,27
P143 144
4-6 12 9,08,07
4-7 12 15,02,27 )
oK NG
4-8 2 15,02,27 Fes
G =1/Fe(Ga=1.0) , Gn=1/Fs(Gi=1.0,Gj=1.0)
4-9 12 SD 19,05,21 SD
4-10 2|ls 15,02,27 |Is -




No

5-1

oalo

9,12,18

9,12,18

9,12,18

22,0517

9,12,18

17,0311

9,12,18

9,12,18

19,0521

9,12,18

2001

RC

N/Na 1.2
Na

RC

OK

Na

2003




100mm

B 04

12

12

nu

HOOP

20

100mm

0.5



oo

NO 100mm YES l
NO Nu > 0.4bDFc
YES
) 4
@ YES - YES Nu > 0.5bDFc
NO \ 4 NO
Nr 0
NO_| Nu
YES NO
l YES
4 v
1971 NO
NN | | T Pl N=NL N=Nu
Is nNnu/nmax 2
I
[}
YES i NO
I
[}
[}
[}
|
[}
\ 4 \ 4
N=Nu N=Nu
F=0.8 F=0.8
Is Is




0.4

NE
Nu = NL + NE
NE1
(n+)/(n+1)
NE2
ag oy+ NL
NE3 = a NEo
NEo: Co=0.2
o =60
(o
a=min(C;)/ Co
min C; =120 Co=02

P269



RF

4F

3F

2F

1F

@

@

X3 Y1 Y2
3.400 Qu= 3768 kN Qu
| kN
4 3768
3.500 Qu= 3814 kN 3 3814
| 2 984
1 1056
3.600 S Qu= 984 kN
. n=4 a=(nt+ )/(n+l)
n Wi SWi a Fc
3.700 C1] >Qu= 1056 kN |C1 kN kN N/mm2
- 4 4512 4512 1.60 18
3 5603 | 10115 & 1.40 18
9.500 2 5603 15718 1.20 18
Y1 Y2 1 5556 | 21274 | 1.00 18
b D HOOP oy ag NL NEo b D Fc
mm mm N/mm2 mm2 kN kN kN
2 Y1 1 600 600 100 344 | 10 D25 5070 913 350 6480
Y2 C1 600 600 100 344 | 10 D25 5070 913 350 6480
1 Yl C1 600 600 100 344 | 12 D25 6084 1212 450 6480
Y2 C1 600 600 100 344 | 12 D25 6084 1212 450 6480
NEo Co=0.2
Q4 = Co >Wi (n+ )/(n+tl) = qi Co = 7219 Co Coi = Qui/qi =0.52
Q3 = Co >Wi (n+ )/(n+l) = qi Co = 14161 Co Coi = Qui/qgi =0.27
Co = min( Coi ) =0.27
Q4 = 1944 kN
Q3 = 3814 kN
Q2= 984 KN
Ql = 1056 kN
MT4 = 1944 > 3.400 = 6611 kN m
MT3 = 3814 > 3.500 = 13349 kNm
MT2 = 984 > 3.600 < 1/2 = 1771 kN m
SNT = 21731 kN m
MT4 = 1944 > 3.400 = 6611 kN m
MT3 = 3814 >  3.500 = 13349 kN m
MT2 = 984 =< 3.600 = 3542 kN m
MTL = 1056 >  3.700 < 1/2 = 1954 kN m
SNT = 25456 kN m
2F NE1l = SMT/L = 21731 / 9.500 = 2287 kN
1F NE1l = SMT/L = 25456 / 9.500 = 2680 kN
2F NL = 913 kN
1F NL = 1212 kN
2F ag oy = 5070 > 344 = 1744 kN
1F ag oy = 6084 > 344 = 2093 kN
2F NE2 = NL + ag oy = 2657 kN
1F NE2 = NL + ag oy = 3305 kN

10



Q)

(3) o NEo o= 6.0
2F NE3 = o NEo = 6.0 > 350 = 2100 kN
1F NE3 = o NEo = 6.0 > 450 = 2700 KN
NE1 NE2 NE3 NE
kN kN kN kN
2F 2287 2657 2100 2100
1F 2680 3305 2700 2680
n
2F Nu = NL + NE = 913 + 2100 = 3013 kN
1F Nu=NL+NE= 1212 + 2680 = 3892 kN
2F = Nu/(b D Fc) =0.46 0.50
N=Nu
F=0.8
1F nN= Nu/(b D Fc) = 0.60 0.50

Nr=0



NE3=ax NEO

NE Nu
+o Qcu NE1
NE2
a=6.0
NE4

NL+NE

12



X3 Y1 Y2
RF RG2
3.800 wQu= 2732 kN cQu= 541 kN
4F 4G2
3.800 wQu= 2813 kN cQu= 685 kN
3F 3G2
3.850 wQu= 2853 kN cQu= 782 kN
2F 2G2
4.000 C1jcQu= 936 kN C1]cQu= 930 kN
1F
8.385 | 2.765 (lo=  2.365 m)
11.150
Y1 Y2
Qu o o Qu Qu o A Qu | S(aQu
kN kN kN kN kN
4 2732 1.00 2732 541 0.70 379 3111
3 2813 1.00 2813 685 0.70 480 3293
2 2853 1.00 2853 782 0.70 547 3400
1 936 0.70 655 930 0.70 651 1306
(o
n=4
n Wi SWi (n+ )/(n+l) Fc
kN kN N/mm2
4 6339 6339 1.60 21
3 9162 15501 1.40 21
2 9294 24795 1.20 21
1 9801 34596 1.00 21
b | D HOOP oy ag NL NEo b D Fc
mm | mm N/mm2 mm2 kN kN kN
Cl | 650 800 100 344 18 D25| 9126 1478 391 10920
Cl | 650 800, 100 344 18 D25| 9126 1407 376 10920

NEo Co=0.2

13



@
Q4 = Co >SWi (n+ )/(n+l) = qi Co= 10142 Co
Q3 = Co >SWi (n+ )/(n+l) = qi Co= 21701 Co
Q2 = Co >SWi (n+ )/(n+l) = qi Co= 29754 Co
Co = min(Coi) =0.11
Q4 = 1159 kN
Q3 = 2480 kN
Q2 = 3400 kN
Q1 = 1306 kN
MT4 = 1159  x 3.800 = 4405 kN m
MT3 = 2480 X 3.800 = 9425 kN m
MT2 = 3400 x 3.850 = 13092 kN m
MT1 = 1306  x 4.000 X 1/2 = 2612 kN m
SMT = 29534 kN m
NE1l = >MT/L = 29534 / 11.150 = 2649 kN
&)
NL = 1478 kN
ag oy = 9126 X 344 = 3139 kN
NE2 = NL + ag oy = 4617 kN
(3) o NEo a=6.0
NE3 = o NEo = 6.0 x 376 = 2256 kN
*
Qmu Qsu QB
kN kN kN
RG2 382 356 356
462 457 448 448
362 499 485 485
262 733 719 719
> 2008 NE4= 2008 kN
®
NE1 NE2 NE3 NE4 NE
kN kN kN kN kN
2649 4617 2256 2008 2008
®) n
Nu = NL + NE = 1407 + 2008 = 3415 kN
N= Nu/(b D Fc) =0.31 0.50

N=Nu F

Coi=> (ax Qu)/qgi =0.31
Coi=> (ax Qu)/qi =0.15
Coi=> (ax Qu)/qgi =0.11

14



H4
H3
H2
H1
1/8
H4,
H2
H1
H2
H1

H2 ...
H4 ...

H1 ...
H3 ...

1 12
H1

H1+H2)/2

H1 ...

H2

H2

H1

H1+H2)/2
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No TEL
1 2-15-15 019-654-0013
2 2-2-10 019-643-8585

55-2

0197-23-5164




wQsu=min (¢p wQsul , wQsu2 , wQsu3)

wQsu3

wQsu=¢ wQsul

@

wQsul=wQsu0

P105

wQsu2=wQ'su+2 o Qc
wQ'su=max(pw woy , Fcw/20+0.5pw woy) tw I

wQsu3=Qj + pQc + a Qc

Qj:
wQsu0 :

P36

P102

wQsuC

315 3

315 3

221,2)

RC

wQsu=min (wQsul , wQsu2 , wQsu3)

wQsu30

wQsu0

wQsu=min(wQsul, wQsu3)

wQsul=y wQsu0

wQsu2=y wQ'su+2 o Qc
wQsu3=Qj + pQc + o Qc

y 1-
wQ'su: 2.1)

Qi

wQsu0 : 2.1)
wQsu30=Qj +
Qj

315 3
315 3

y 06

Q=min(Qjl , Qj2)=Qj2)

Qj+pQc+a Qc

wQsu2

wQsu3 wQsu0

21-2

N\

Qjc

= TTTTTrTITrra=

o e i I I I

Qj2

Qj
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1.
1 wQsu
QMul + QMu2 wQsu
QMul , QMu2 :
MuT , MuB :
@ 08
MUT MUTZ
4
QMU1
127 QMU2
MUB1 MUB2

19



20

Is
R e L 1
|
|
|
|
v :
|
e 4
| NO I (a) > 0% 4 5
0.15 min a),(b) *
0-3
YES (b) 5
> 0
4
| NO > NO 9 1 5
YES
YES 4
‘ N NO > 2 5
0.8
Is YES YES
L S 2A 2
NO YES
>l 2B Is nu/nmax) 2
4
1.0 | NO ) > NO < 3 5
5
YES
YES 4
Ly NO S 4 2
4—
YES
L—» e 4A 4
YES
>l 4B Is nu/nmax) 2
> NO >
5 5
YES
‘ > NO > 6 5
YES
L S 6A 6
YES
>l 6B Is nu/nmax) 2
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0.15

100

1971

F 10

2
Y N
Y N
Y N
Y N
Y N
Y N
Y N
Y N
Y N
Y N

nu 04
Y N
Y N
Y N
Y N
Y N
Y N
Y N
Y N
Y N
Y N

nu=0.4
nu=0.5
Y N
Y N
Y N
Y N
Y N
Y N
Y N
Y N
Y N
Y N
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7
B am
NO s 2 135N/ mmt 052 135N/mm>—NO
YES YES
*1 *1
a7 OEMRE A7 DB
Xown=13.5N/mm? > YE§, YES e 135N/ mm
NO NO
DMEEIREShIIL—
(RHTE 1)
NO os23/4-Fc 0s23/4-Fc NO
YES YES
*2
Gog 70 g
WM
REEE
*3 *3 *3
*4 ] BRI
BHEOBRABED | | gL L20s B BEORE || prassticsson | BEORKARED || Lo
BlEEiThEL CEREEEERTS || (EREOFAX GEROFE) | | -ERErssEmds | SEETHEN
*4 *6 *4
DR AKZKD0su Fu=080r 10 D% | | paiRERI=LS0su
IZERFREEERTS BRYT5 ICERREEERTS
*5 *5
;“Eﬁ*ﬁ”ﬁ”’""m | P OEMRREBERICLNERINTOIABULELT S, Ifg*’*"“*"’"“ﬁ“
Fu=0.8or 1.0 Dls%

Fu=08 or 1.0 Dls%
BRT5

PWHICBOTERINERT 3ZEMEELLA, RELIBE ST
Bl ENERT 5,
BHICBT5EMERICEYt+HIZEEEOHIERNELN
TLWABA L, REICS LV TEMERT 2B EFL,

*2 BEMIEREZETL, EIRR, SERREREL,

®RATS
*7
*OMEBEEE

EME (518 RURBHRAFICBLWTREICHNT %, (XSEXHSR)

M@l os < 9.0 N/mm? |IDBEIXHELT S,

*¥3 O [ZHLCGERASEAAH I TELHI L BRELTHREDHEETS.
*4 (BRI kr=(0.244+0.056 0= ) &L, F-QsuDFHEXhD 0. (ZIXIERBEEZRALS,
*5 TRERITEEEOEEREEROHUEICAHWLIEIT HOFIREICIE.

{ERRE krdD1/2%(= [0.244+0.056 0= ) #EL S,

*6 HHOD135 7y, THOMERE. ERESTEAERTHA
DOMRE, LR ET o THRBHURIBSIFEAFU>1.0
ELTKLY,

*7 At SREDNSVRICTESSTELTHARABHERET S,
BEEOBHETRERLTOWSRHBBELLDIFEENHEIDT
BET 5. (XB8EXHSE)

<BEXR> EEHKM No.710 2009438k P126 {E3REI 21—k
-BEEEVOTRZE-WEME =17 /L 2003FE R (EFK) ) BEFRERGS



